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Height of a tree node:
1. The height of a node with no elements 1s 0
2. The height of a node with 1 element is 1
3. The height of a node with > 1 element 1s 1 + the height of its tallest subtree

AVL tree:
A binary tree in which the difference between the height of the right and
left subtrees of the root is never more than one.

Each node keeps a balance number which is the difference in heights
of 1ts two subtrees.

For example, .
'@‘ Whenever a balance number 1s not
@ 0,-1,+1, perform some rotations
according to some rules on following
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